MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Ruskin Company
3900 Dr. Greaves Road
Grandview, MO 64030

ScopE:

This NOA is being issued under the applicable rules and regul ations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform
in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right
to revoke this acceptance if it is determined by Miami-Dade County Product Control Section that this product
or materia fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model EME5625M D Aluminum Louver

APPROVAL DOCUMENT: Drawing No. 60-022462-00D, titled “EME5625MD Standard Installation”,
sheets 1 through 13 of 13, dated 10/02/2017, prepared by Ruskin Company, signed and sealed by Theodore
Berman, P.E. on 02/28/2018, bearing the Miami-Dade County Product Control revision stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Section.
MISSILE IMPACT RATING: Largeand Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Geneva, AL and
Juarez, M X, model/series, and following statement: "Miami-Dade County Product Control Approved", unless
otherwise noted herein.

RENEWAL of thisNOA shall be considered after arenewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been arevision or changein
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failureto
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be doneinits entirety.

INSPECTION: A copy of thisentire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 23-0227.05 and consists of this page 1 and evidence pages E-1 and E-2, aswell as
approva document mentioned above.

The submitted documentation was reviewed by Sifang Zhao, P.E.

=, Z. NOA No. 23-1116.14

Expiration Date: June 14, 2028
021152024 Approval Date: February 15, 2024
Page 1



Ruskin Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 60-022462-00D, titled “EME5625MD Standard Installation”, sheets 1 through
13 of 13, dated 10/02/2017, prepared by Ruskin Company, signed and sealed by Theodore
Berman, P.E. on 02/28/2018. “ Submitted under NOA # 17-1214.15"

B. TESTS
1 Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Model EME5625MD Fixed
Rectangular Louver, prepared by National Certified Testing Laboratories, Test Report No.
NCTL-210-4063-01, dated 08/18/2017, with revision dated 02/21/2018, signed and sealed by
Douglas J. McDougall, P.E. “ Submitted under NOA # 17-1214.15"
2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Model EME5625MD Fixed
Circular Louver, prepared by National Certified Testing Laboratories, Test Report No.
NCTL-210-4063-01, dated 08/18/2017, with revision dated 02/21/2018, signed and sealed by
Douglas J. McDougall, P.E. “ Submitted under NOA # 17-1214.15"
3. Test report on Wind and Wind Driven Rain Resistance per TAS 100a-94 of a Model
EMES625MD Vertical Louver, prepared by Intertek/ATI, Test Report No. F4782.02-801-44,
dated 01/26/2016, signed and sealed by Tyler Westerling, P.E.
“ Qubmitted under NOA # 17-1214.15"

C. CALCULATIONS
1 Addendum to louver wind load review prepared by Ruskin Company, dated 05/07/2018,
signed and sealed by Theodore Berman, P.E. “ Submitted under NOA # 17-1214.15"
2. Louver wind load review prepared by Ruskin Company, dated 02/28/2018, signed and sealed
by Theodore Berman, P.E. “ Submitted under NOA # 17-1214.15"

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

Sifang Zhao, P.E.

Product Control Examiner

NOA No. 23-1116.14

Expiration Date: June 14, 2028
Approval Date: February 15, 2024



Ruskin Company

F.

G.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

STATEMENTS

1

Statement letter of code conformance to the 6™ edition (2017) FBC and of no
financia interest issued by Ted Berman and Associates, LLC, dated 02/28/2018,
signed and sealed by Theodore Berman, P.E. “ Submitted under NOA # 17-1214.15"

2. Statement |etter of code conformance to the 7" edition (2020) of the FBC and of no
financial interest issued by Ted Berman and Associates, LLC, dated 10/27/2020,
signed and sealed by Theodore Berman, P.E. “ Submitted under NOA # 20-1123.05"

3. Distributor agreement dated 11/11/2020.  * Submitted under NOA # 20-1123.05”

4, Statement letter of code conformance to the 8" Edition (2023) of the FBC and of no
financial interest, issued by Ruskin Company, dated 10/30/2023, signed and sealed by
Jeffrey Devon Smith, P.E.

OTHER

1. This NOA revises NOA # 23-0227.05 for the 8" edition (2023) of the FBC update.

Sifang Zhao, P.E.

Product Control Examiner

NOA No. 23-1116.14

Expiration Date: June 14, 2028
Approval Date: February 15, 2024



PARTS LIST
FOR STANDARD LOUVER
TTEM DESCRIPTION MATERIAL ALLOY
i HEAD FRAME 095" THK EXTRUDED ALUM.|  6063-16
2 SILL FRAME 095" THK EXTRUDED ALUM.| __6063-T6
3 JAMB FRAME ‘095" THK EXTRUDED ALUM. | 6063-T6
1 BLADE 080" THK EXTRUDE ALUM, | 6063-T6
5 CORE ANGLE 080" THK EXTRUDE ALUM | 6063-T6
6 H.H.B.S, 080" THK EXTRUDE ALUM | 6063-T6
MULTI SECTION CONNECTION PARTS
7 SPLICEPLATE 125" THK EXTRUDE ALUM | 6063-T6
PLICE PLATE SCREW
8 | 12-14X3/4" LG "HWH" "spr |  #10SS/ZINC PLATED -
STANDARD LOUVER W/ UNIVERSAL SLEEVE
9 FRONT FLANGE SLEEVE 188" THK FORMED ALUM. 3%“36?%2“
10 | CONT, RETAINING ANGLE _|.250" THK EXTRUDED ALUM.| __ 6063-T6
11 | FRONT FLANGE FRAME COVER | .125" THK SHEET ALUM. 3?36';%?“
1/4-14 GRADE 2 "HWH" TYPE _
12 o SCREW 410S5/ZINC PLATED
FOR SHAPED LOUVER
13 EXTERIOR FRAME .OBD" THK EXTRUDED ALUW.] 606374
; 3003-H14 OR
14 WATER STOP 080" THK FORMED ALUM. | o 0
INSTALLATION PARTS
5T CONT. ATTACHMENT ANGLE_1.250" THK EXTRUDED ALUM. TS
ENT - “H14 OR
16 AL 250" THK FORMED ALUM. | * 0ot
17 ALTE’aﬁCOi ENTE lZ'EﬁEC MENT | 550 THK FORMED ALUM. 305?0;;43‘?“
18 ALCTERNATE ATTACRMENT 250" THK ALUM 3003-Hi4 OR |
CONT. FLAT PLATE . : 005134
19 ALTERNATE ATTACHMENT 250" THK ALUM 3003-Hi4
CONT, STIFFENER PLATE ' - 5005-H34
56| CLIP ANGLE ATTACHMENT 250" THK EXTRUDED ALUM.| _ 6063-16
21| #1214 HWH SO s%ng 410 ZINC PLATED -
BSTRATE FASTENER (CONT,
22 \NGLEYEY OTHERS) VARIES REF TABLE 1/13 -
SURSTRATE FASTENER
23 | (ZEE/FLAT PLATE)(BY OTHERS) | VARIES REF TABLE 2/13 -
SUBSTRATE FASTENER (SHAPED
24 |OUVERXEY OTHERS) VARIES REF TABLE 3/13 ]
ABBREVIATIONS:

DRAWING INDEX:

SHEET 01 - NOTES, PARTS LIST & DRAWING INDEX
SHEET 02 - ASSEMBLY 'A' & DETAILS

SHEET 03 - ASSEMBLY 'A" CONNECTION DETAILS
SHEET 04 - ASSEMBLY ‘A’ ALT. CONNECTION DETAILS

SHEET 05 - ASSEMBLY 'B'

SHEET 06 - ASSEMBLY 'B' CONNECTION DETAILS
SHEET 07 - STANDARD AVAILABLE SHAPES
SHEET 08 - ASSEMBLY ‘C' & DETAILS

SHEET 09 - ASSEMBLY 'C' CONNECTION DETAILS

SHEET 10 - PARTS
SHEET 10 - PARTS
SHEET 12 - PARTS
SHEET 13 - FASTENER CHARTS

CONT. - CONTINUOUS
H.V.B.S.- HIDDEN VERTICAL BLADE SUPPORT
H.H.B.S.- HIDDEN HORIZONTAL BLADE SUPPORT

RECTANGLE LOUVER

NS, .
CHANNEL FRAME REF. SHEETS 02 THRU 04
UNIVERSAL FLANGE SLEEVE REF, SHEETS 05 THRU -06

LD. - lOUVER DIMENSION
MAX. - MAXIMUM
MIN. - MINIMUM

NOM., - NOMINAL

N.T.E. - NOT TO EXCEED

O/C - ON CENTER

OPP. - OPPOSITE

R.O. - ROUGH OPENING

SIM. - SIMILAR

S.S. - SHIP SECTION

5.5.D. - SHIP SECTION DIMENSION
TYP. - TYPICAL

U.N.C. - UNLESS NOTED OTHERWISE
DIM, - DIMENSION

FLG. - FLANGE

D - SUBSTRATE DEFTH

SuB.

-SUBSTRATE

NOTES:
1. THE EME5625MD HAS BEEN TESTED IN ACCORDANCE WITH & QUALIFIED TO FLORIDA

PROTOCOLS TAS-201, 202, & 203 FOR LARGE MISSILE IMPACT, UNIFORM PRESSURE,CYCLIC
WIND PRESSURE, & TAS-100(A) FOR HIGH VELOCITY WIND DRIVEN RAIN. TAS-100(A) ONLY
APPLIES TO RECTANGLES, NOT APPLICABLE FOR SHAPES.

. QUALIFICATION TO FLORIDA PROTOCOL TAS-100(A) ALLOWS THIS LOUVER TO BE INSTALLED IN

A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS NOT DESIGNED TO DRAIN WATER
PENETRATING INTO THE ROOM & THE ROOM DOES NOT HOUSE WATER RESISTANT/WATER
PROOF EQUIPMENT, COMPONENTS, OR SUPPLIES.

. THIS LOUVER SYSTEM IS APPROVED FOR APPLICATIONS WITH DESIGN PRESSURES OF +/- 160

PSF OR LESS.THIS LOUVER SYSTEM IS NON-BEARING AND IS NOT DESIGNED TO WITHSTAND
BUILDING DEAD LOADS,

. RUSKIN DOES NOT DETERMINE THE STRUCTURAL INTEGRITY OF THE STRUCTURE. SUBSTRATE

REQUIREMENTS GIVEN IN TABLES 1, 2, & 3 ON SHEET 13 ARE AS NEEDED FOR ANCHORAGE
ONLY.

.. MAXIMUM SINGLE SECTION SIZE FOR RECTANGLES IS 48" WIDE X 120" HIGH. MAXIMUM SINGLE

SECTION SIZE FOR SHAPES IS 48" WIDE X 96" HIGH. UNLIMITED WIDTH CAN BE ACCOMPLISHED
BY PLACING SINGLE SECTIONS SIDE BY SIDE.

. SECTIONS OR ASSEMBLIES MAY BE STACKED VERTICALLY PROVIDING A SUITABLE STRUCTURAL

SUPPORT IS DESIGNED AND INSTALLED BY OTHERS TO SUPPORT ALL LOADS TRANSFERRED
FROM THE LOUVER.

. ALL CMU BLOCK MUST BE GROUT FILLED. MIN. PRISM STRENGTH OF 1500 PSI AT TIME OF

INSTALLATION. CMU BLOCKS MUST BE MN. TYPE 1, GRADE N, LIGHT, MEDIUM, OR NORMAL
WEIGHT PER ASTM C90. GROUT AND MORTAR MUST COMPLY WITH FBC.

. EXTRUDED ALUMINUM H.H.B.S. CHANNEL TO BE NOTCHED TO FIT OVER JAMB FRAMES & TO FIT

BETWEEN EACH BLADE. H.H.B.S. CHANNEL TO BE WELDED TO EACH BLADE AND TO JAMB
FRAMES. H.H.B.S. CHANNEL IS REQUIRED FOR ANY LOUVER ASSEMBLY EXCEEDING 60" IN
HEIGHT FOR RECTANGLE LOUVERS & 48" FOR SHAPES. H.H.B.S. IS TO BE POSITIONED AT MID
SPAN WHEN LOUVER IS OVER REQUIRED HEIGHT.

[}
o LLLE T
in \““ ‘[e
™~ A ',
g SOOORE 8,
a9 =
E = =
Sqf};PED LOUVER é?—‘ 8] PRODUCT REVISED
BT as complying with the Florida
REF. SHEETS 07 THRU 09 a § = Building Code
3 & % NOA-No. 23-1116.14
XI
z5 S g Expiration Date 06/14/2028
=
ﬁ%%g By
2 E ;;%2 Miami-Dade Product Control
EERg
REV. DWN.JCHK'DJAPPV'D.,
LETTER REVISION DESCRIPTION BY: |BY: gY: ECN|DATE
e ERUSKIN === "
3 PLACE XXX 2. AQB'm? m. Al CONTROL NONE ECN:
iﬁé’%@#‘msms‘*m REV. - | SHEET1 OF 13
dsevagboreons ° | NOTES, PARTS LIST & ASSEMBLY VIEWS EMES625MD STANDARD BWE NG
INSTALLATION

60-022462-00D




REF DET. 3/03 FOR -
MULLION CONNECTION
e -~ 0.375"
......... O D D) o
T 120" - /\No ATTACHMENT
EXPANSION GAP . . REQUIRED AT JAMBS
48.000" 48.000"
MAX SHIP SECTION WIDTH MAX SHIP SECTION WIDTH -'1\-
0.375" . 0.375" REF DET. 4/03 STANDARD INSTALL
MAX. L.D. (96.125" TESTED WIDTH) MAX. REF DET. 5 THRU 7/04 FOR ALT. INSTALL
SECTION B-B
L.D. (96.125" TESTED WIDTH)
48.000" 48.000"
MAX SHIP SECTION WIDTH MAX SHIP SECTION WIDTH
L ons A —a
EXPANSION GAP )
REF DET. 1/03 FOR H.H.B.S. CONNECTION
a_ | _
L.D. / o '
(131 "M’u
(120.000" 2 v &
MAX. \ ) = .;\“‘OQ.O-E E‘ -?Sf? ”“"f,
HEIGHT) \ y F._jg ¢Qg,..- \GENSG"%"'
[ S = = " FZ’
i g 8
o 3
2y =
5 2
REF NOTE 8/01 FOR g En §
r' ‘* REQUIREMENT & LOCATION é 2T H
W D
LD. B B 86
(120.000" 0 0 L e e T T H.HB.S. T
MAX, th H T e Mo mintntitntnii REF NOTE 8/01 Fo®m
HEIGHT)
{ PRODUCT REVISED
as complying with the Florida
it SILL INSTALL IS SIMILAR TO HEAD Building Code
REF DET. 4/03 FOR STANDARD INSTALL NOA-No. 23-1116.14
~ REF DET. 5 THRU 7/04 FOR ALT, INSTALL
H Expiration Date 06/14/2028
f o
0.375" Miami-Dade Product Control
MAX,
TR I 2
/7
/ Al il Az SECTION A-A
\ ' I} ERRBER! N.T.S.
I\ B / K- 3 2 5 K3 82 3 B L3 2
] e ~ A ‘J -
REF DET, 2/03 REv..| Revision pescripTion | RWNICHKDRPPV'DI eyl pare
FOR WELDMENT TOLERANCES w00 enves o |PLOT SCALE
DECIMAL DIMENSIONS: emﬂ GRANDVIEW, M0 §4330 NON ECN:
éﬂskl_g‘%%:%)lgg%gONs 1/16 : L : :
ASSEMBLY 'A' CHANNEL FRAME LOUVER ANGLE DIMENSIONS 42- . me REV. = | SHEET 2 OF 13
AX SHIP SECTION 48" X 120",
60-022462-00D




1/8 |/ TACK

/"1 H.H.B.S. ATTACHMENT DETAIL

@ EVERY BLADE
TO H.H.B.S.

LOCATED 4.000" MAX FROM ENDS & 8

/ 2\ CORNER FRAME CONNECTION DETAIL

02,05/ N.T.S.
D
MIN. EDGE DIST.
- REF TABLE 1/13
P B ~
-
s ~
/7
/
BACKER ROD & —\ |/
SEALANT /<
(BY OTHERS)
375" ,!
MAX.
|
\ I /
LD. \\ /
\
\
~ s
~ ~I_ _ - —~

/ 4\ INSTALLATION DETAIL @ HEAD
2 / N.T.S.

& /N

02 / N.T.S.

NOTE: TYPICAL @ EACH CORNER

MIN. EDGE DIST.
REF TABLE 1/13

N N SUBSTRATE REF
\ /—
\
7, )‘/@ REF.TABLE 1/13
|
|

/

51) LOCATED 1.500" FROM ENDS
& 3.000" MAX C-C

15
1
5

LOUVER SILL ATTACHMENT SIMILAR

8.000" MAX C-C >
\
) AN 5 / \
4
/ ! 73 . \
‘ J
\ | ’
| /
\ / 78 > / 2
, TACV ~oLl -
C L
N N B ] | 7
v 7
BACKER ROD & / 1.200" m BLADE CONNECTION DETAIL
SEALANT (BY OTHERS) 7 . SWERES
S.8.D~—={f~——=—S55D. : ;
@EVERY OTHER
125"
EXPANSION
GAP N
N 1
L"_l.j o \\\“‘S;E ’é"”’
3 (/
/3™ MULLION CONNECTION DETAIL 02 | SO,
< O & DY .‘..
RV 02 JNTS. 58 8§ ,;b v €72
é 3 §~E* S No 09814 ="
D 2 of ¥: kT
s EHoL v %
MIN. EDGE DIST. __, _ MIN. EDGE DIST. __| z58 =% T L
™ REF TABLE 1/13 REF TABLE 1/13 ST ORHS £/ S H2
——t— 2k o D1%Ma A Z of- ?
- -~ goﬁg % QLo E . »
- N SUBSTRATE REF E8ar €5y, RIUASKA W
7/ d N / SLELEFER Ll
BACKER ROD &
SEALANT (BY OTHERS) / \
/ 7 |\ (22) REFTABLE 1/13 PRODUCT REVISED
[ as complying with the Florida
375" \ Building Code
max, | | NOA-No. 23-1116.14
\ ' ], Expiration Date 06/14/2028
\ = = By
\ | / Miami-Dade Product Control
\ @ LOCATED 1.500" FROM ENDS
LD. g & 3.000" MAX C-C
N 15
~ ~l__ 11 - -~

/ 42"\ ALTERNATE HEAD CONNECTION
2 JNTS,

: DWNICHK DJAPPV'D.

LOUVER SILL ATTACHMENT SIMILAR LETTER| REVISION DESCRIPTION | 5. "Gy 'ABY: ECN|DATE
TOLERANCES N. e P_ D. wooor cesvis ko | PLOT SCALE
DECIMAL DIMENSIONS: YD B NLT B%E——lem CHEELIOSS NONE | EON:
gﬁk‘éfrélo;‘?x;fgg%{floNS:1ﬂS i I(Eﬁﬂl? : mfm"__——m“m_m -

3 REV. - | SHEET3 OF 13
DSE WiL0b7 & 008 - LOUVER CONNECTION & INSTALL EMES625MD STANDARD BWE NG
UNLESS SPECIFIED OTHERWISE DETAILS INSTALLATION n -
60-022462-00D




MIN. SUBSTRATE DEPTH
REF TABLE 2/13

7
/
/
/
/

SUBSTRATE REF

REF TABLE 2/13

4.000"
MIN.

BACKER ROD &
SEALANT (BY OTHERS)
375"
[ max. |
1

\

7”5\ ALTERNATE HEAD CONNECTION

REQUIRED WHEN LOUVER EXCEEDS
HEIGHTS OVER 42"

21 JLOCATED 1.500" FROM ENDS
& 3.000" MAX C-C

MIN, SUBSTRATE DEPTH
REF TABLE 2/13

BACKER ROD &
SEALANT (BY OTHERS)

/"6 \ ALTERNATE HEAD CONNECTION

SUBSTRATE REF

@ REQUIRED WHEN LOUVER EXCEEDS
HEIGHTS OVER 42"

REF TABLE 2/13

LOCATED 1.500" FROM ENDS
& 3.000" MAX C-C

02 / N.T.S.
K—/E: USED WHEN MIN, EDGE DISTANCE REQ'D FOR CONT. ANGLE INSTALL CANNOT BE MET.

WHEN WALL DEPTH EXCEEDS DEPTH OF LOUVER INTERIOR FACE

D LOUVER SILL ATTACHMENT SIMILAR

MIN. SUBSTRATE DEPTH
REF TABLE 2/13
~ /
s

-
-

SUBSTRATE REF

@ REQUIRED WHEN LOUVER EXCEEDS
HEIGHTS OVER 42"

REF TABLE 2/13

BACKER ROD &
SEALANT (BY OTHERS)

—~—

LOCATED 1.500" FROM ENDS
8 3.000" MAX C-C

02 / N.T.S.
NOTE: USED WHEN MIN, EDGE DISTANCE REQ'D FOR CONT, ANGLE INSTALL CANNOT BE MET.
WHEN WALL DEPTH EQUAL TO DEPTH OF INTERIOR FACE OR LOUVER OFFSET IS FLUSH W/ INTERTIOR WALL

LOUVER SILL ATTACHMENT SIMILAR

TED BERMAN & ASSSOCIATES,LLC
CERT. OF AUTHORIZATION NO. 27502

(305)868-4707

FLPRODUCTAPPROVAL.COM

PRODUCT REVISED

as complying with the Florida
Building Code

NOA-No. 23-1116.14
Expiration Date 06/14/2028
By

Miami-Dade Product Control

NT.S.

LOUVER SILL ATTACHMENT SIMILAR

NOTE: USED WHEN MIN, EDGE DISTANCE REQ'D FOR CONT. ANGLE INSTALL CANNOT BE MET.
WHEN WALL DEPTH IS LESS THAN DEPTH OF LOUVER INTERIOR FACE

TOLERANCES

REV.
LETTER

DWN.JCHK'DJAPPVD.
REVISION DESCRIPTION | v 50" [ ! | ECN| DATE

BY: CID EW‘ NLT E‘?‘:’::P BTM B@? 0.

DECIMAL DIMENSIONS:
3 PLAGCE JOO( £.010

Alliny PRIy PPy PATE

€

2 PLACE .xX +.020
FRACTION DIMENSIONS:+1/16
SIONS £2°

7 & D08
ECIFIED OTHERWISE

ALTERNATE ATTACHMENT DETAILS

3500 ok, seeaves ko | PLOT SCALE

GRANDVIEW, MO 64030

f gk NONE |ECN:
e REV. “ | SHEET4 OF 13
EMES625MD STANDARD DWG. NO.

INSTALLATION

60-022462-00D




REF DET. 3/03 FOR
MULLION CONNECTION

i))))))))))))))))))))))))))))))))))‘))), P)),)))))))))))))))))))))))))))))))))3)1

0125" o=z ] b= 1.200"
EXPANSION GAP
1375 || 48.000" 48.000" 1.375"
SLV. FLG. MAX SHIP SECTION WIDTH MAX SHIP SECTION WIDTH SLV. FLG.
0.375" . 0.375"
e L.D. (96.125" TESTED WIDTH) e
SECTION D-D
W
SLEEVE DIM.
1.375" 1.375"
— L.D. (96.125" TESTED WIDTH) -~
SLV- FLG- 48'000" 48'000“ SLV. FLG.
L375° MAX SHIP SECTION WIDTH MAX SHIP SECTION WIDTH
SLV. FLG. —1=—0.125" EXP. GAP C
:_ —.1
H
2l | K
D D
|
i
L.D.
SLEEVE H - HH FANRIRQRSRRIRRERRENRI] [INFREQTESUNT HHHHHHH H
DM, (120.000" iumnnunpnmam I{ 1 T
MAX. HEIGHT)
I
1l
1l
rll
I
}.
{
B-1 !I |_.| B2
F 1 2 2 r-3 r-3 k-1 2 -1 -1 a2 - 'T'"-
1375 | C —al
SLV. FLG.

ASSEMBLY 'B' UNIVERSAL SLEEVE

1.5
HA)C SHIP SECTION 48" X 120",

5.000" —
1.375"
375"
[-OMBJ_ SLV. FLG

NO ATTACHMENT REQUIRED AT JAMBS

i

g “\“nmu,,’
REF DET. 1/03 FOR H.H.B.S. INSTALL gn & O Er.%,
ge SX%NC Ns x>
B =F¥&s £
i BB, Neowne 2
Lo / R I
(120.000" 92 S0 s irs
MAX. HEIGHT) \ / & . &% ATE O ;‘;ﬁ%@ﬁ
L A 22 RN IAREOAS
5 &3 “:’16:96'\"-9.5.2‘ 3 3
22 8 %, N
Eae| Theg “P.E.
8E 8 s
[=X®] @é NU. 05314
H.H.B.S.
REF NOTE 8/01
PRODUCT REVISED
as complying with the Florida
SILL INSTALL IS SIMILAR TO HEAD Building Code
REF DET. 5/06 FOR INSTALL W/ SUBSTRATE >3.563" | NOA-No. 23-1116.14
REF DET. 10/06 FOR INSTALL W/ SUBSTRATE < 3.563" | g, niration Date 06/14/2028
By
Miami-Dade Product Control
0.375" |
1.375" |
SLV. FLG. SECTION C-C
N.T.S.
REV. DWN.CHK'DAPPV'D.,
LBEVip|  REVISION DESCRIPTION |Gy {5y O py: | ECN|DATE
, K, APP PPVD.
;2&&?&5&5%?@ :NC]D v: NLT  BY: “E{M % e m mmsm\msau PLOT SCALE
ATE: ATE: g NONE |ECN:_____
Y x_x)é(x;En%:oSIONs e —EE?M? 115(12!17 10, mumm
RACTION DI # REV. - | SHEETS OF 13
AGTERENSIOS 2 ASSEMBLY “B" UNERVERSAL SLEEVE EMES625MD STANDARD BWENG
UNLESS SPECIFIED OTHERWISE & SECTIDN VIEWS INS]—ALLATION - .

REF DET. 8/06 FOR SLEEVE ATTACHMENT TO LOUVER
REF DET. 9/06 FOR INSTALL W/ SUBSTRATE >3.563"
REF DET. 10/06 FOR INSTALL W/ SUBSTRATE = 3.563"

60-022462-00D




SLEEVE DEPTH
MIN.= 5.250" ———
MAX, = 24,000"
e TYP @ PERIMETER
OPTIONAL - ~ 1/8 T/ 1-12 \.SLEEVE TO FLANGE
ADD ON FLANGE TYP @ PERIMETER
y < /8 [/ 1-12 \.LOUVER TO FLANGE
\
/ \
/ \
4 \
| \ |
‘ [
\
\ /
L.D. \\ /
\ ) 7P @ PERIMETER
/ d
s ~. _ ~
. — L — —

7”8\ UNIVERSAL SLEEVE WELDING DETAIL

N\CYARE

SLEEVE DEPTH MIN. = 5.250"

OPTIONAL
ADD ON FLANGE

SLEEVE DEPTH MIN. = D + 1.688"
WHEN D > 3.563"

.

SN

SUBSTRATE REF

EDGE DISTANCE

/"9 UNIVERSAL SLEEVE CONNECTION DETAIL

05 / N.T.S.
LOUVER SILL ATTACHMENT SIMILAR

WHEN D < 3.563"
/SUBSTRATE REF
OPTIONAL,
ADD ON FLANGE\LL P (10)
g LOCATED 1.500" FROM ENDS
/ & 5.500™ MAX C-C W/ .625" MIN.
\ EDGE DISTANCE. WHEN FASTENER
ars [/ /‘/@ PENETRATES LOUVER FRAME
max. [/ \ SEALANT SHOULD BE APPLIED BY ~ ““lllﬂs LETR s
/ \ OTHERS. 2 WL oORE g,
f g ~ '\\ %0'...""....-$ '&
= NS \CENg D,
l wn 2 h\& - N 6“ Fa '? fp
W = ~ & . 1__ -
| Ez =& & Noopsia 9%
& SOF . = |PRODUCT REVISED
LD. \ E S : B 1% = | as complying with the Florida
\ ] g <£-o-: = : = |Building Code
\ § g g =% TATE O da!:-s NOA-No. 23-1116.14
%:é , =‘;¢':i 2
\ : E 5 % - AR Expiration Date 06/14/2028
h -‘ 5 e
AN S IR o
i S 885 ‘J%E(;N ABER MA‘R( Miami-Dade Product Control
nx g THEODORS , P.E. REV. DWN.ICHK'D|APPV'D.
EE8g NO. 09814 : o IETTER REVISION DESCRIPTION | 5v: "{ay: | my: | ECN|DATE
\ . APP PPV'D.
FOLERANCES DN Bt BV kM By & RUSKIN >+ PLOT SCALE
_UNIVERSAL SLEEVE CONNECTION DETAIL A AT o PATE:, - DAl PATE SN NONE |EON:____
ANGUE DIMENSIONS 22 10 ™ REV. "~ | SHEET6 OF 13
LOUVER SILL ATTACHMENT SIMILAR USE WIQ 007 & 008 - CWISE UNERVERSAL SLEEVE DETAILS EMES625MD STANDARD DWG. NO.

LOCATED 1.500" FROM ENDS
& 5.500" MAX C-C W/ .625" MIN.

INSTALLATION

60-022462-00D




AVAILABLE SHAPES

\}- / N\
! Y
HALF TRIANGLE SHAPE A OR B PYRAMID SHAPE E TRIANGLE TOP  sHapECOrRD  HOUSE SHAPE F DIAMOND SHAPE G OCTAGON SHAPEL CORNER  SHAPE JORK
.. NI1.5. N.1.5.
NO'Y2: CAN BE RIGHT OR LEFT HAND N1-5 NOTE: CAN BE RIGHT OR LEFT HAND NS NS N1.S NOTE! CAN BE RIGHT OR LEFT HAND
RIGHT BOTTOM OR LEFT BOTTOM
PARALLELOGRAM  SHAPE H ROUND SHAPE A QVAL SHAPE G ROUND TOP SHAPEE QUARTER ROUND sHapECORD  HALF ROUND SHAPEHORB ~ GOTHIC  SHAPEF
1.5, 1.5 NS N.T.5. N.T.5. N.I.5. T.3.
N.ES Pg‘rESTED) NOTE: CAN BE RIGHT OR LEFT HAND NDTE: CAN BE TOP OR BOTTOM N1.S
o 1154 )]
=] ‘|“‘ "’l
9i SOOORE 5cl,
= 5 S CEN S
98 _ISQENCENSe Y
z.= .o. 3 -
S 8 S No 09814 -? ":.‘-_ PRODUCT REVISED
o E : ° %= |as complying with the Florida
@ g g . #* :™ £ | Building Code
NOTES: 28 B gp LF |NOANe 25211004
L e e
i E g 5 éz;’ 0 4 Expiration Date 06/14/2028
1. ALL LOUVER SHAPES TO BE CONSTRUCTED AS SHOWN ON FOLLOWING SHEETS. (ELT & ELR) 2z56% 6‘@ {omy 2 i_fé,;‘: ”7 -
Woon DI Teo o B
O [==] 7. LRSS a y
2. MAXIMUM SINGLE SECTION SIZE 48" WIDE X 96" HIGH. UNLIMITED WIDTH CAN BE ACCOMPLISHED E B §§ "’fa’s:" G&lg(% ,f Miami-Dade Product Control
BY PLACING SINGLE SECTIONS SIDE BY SIDE. REQE  THEoD Y %gm?‘hv PE. (BB Revision pescripion [ DWN[CHKDAPPVD. £cy| paTe
OO D M H : :
— ] ETTE
3. HH.B.S. REQUIRED FOR SECTIONS > 48" HIGH, PLACED AT MIDSPAN OF MAXIMUM SPAN. JOLERANCES T T E@:PY@M T @m Znoraewsn [PLOT SCALE
IPLACE XXX 1010 ATE: ATE; : : NONE ECN:
4. VISIBLE MULLIONS REQUIRED AT EVERY 48" IN WIDTH. B R  BiioAS oNs 21116 LI ! T it e UTHORTY I Alt CONTRL ;
ANGLE DIMENSIONS +2° REV, SHEET 7 OF 13
Hrsufsvg’s SPECIFIED OTHERWISE SHAPES EME?&?’:&%‘\SIEARD DWG. NO,
60-022462-00D




REF DET. 13/09 FOR ATTACHMENT DETAIL
Y REF DETAIL 12A/09 FOR WELDMENT

D,

e

/
1.200" \ y;
~l— o5 NOM. ~4—
0.375" 48.000" EXPANSION GAP 45 g 0.375"
MAX. MAX SHIP SECTION MAX SHIP SECTION MAX. 0375
MAX.
L.D. (96.125" TESTED WIDTH)
SECTION F-F \ /
NS, \
L.D. (96.125" TESTED WIDTH)
48.000" : 48.000"
MAX SHIP SECTION 0.125" _ MAX SHIP SECTION
Fo—
Pty
(96.000"
MAX. HEIGHT) | \ /
AN
p. F HIHHHHHHH F H.H.B.S
(96.000" +F1.Bro.
MAX HEIGHT) M mrrrmT T rrTmIrTia T REF NOTE 3/07 FOR REQUIREMENT REF NOTE
& LOCATION 3/07
U|3? Il_
MAX,
" \ [es = SECTION E-E
N\ 1.5,
! J. 4
—hd { o
") 1 L™
_—/-”
@/ E

ASSEMBLY 'C' SHAPED LOUVER

(CIRCLE AS TESTED)

N. .S
MXX SHIP SECTION 48" X 96",

" REF DET. 14/09 FOR ATTACHMENT DETAIL
REF DET. 14A/10 FOR ATTACHMENT DETAIL

DETAIL TYPICAL @ PERIMETER
REF DET. 14A/10 FOR ALTERNATE

/\" REF DET. 11/09 FOR ATTACHMENT & WELDMENT

(sIM.)

.
“enanne®

""ff%) *

CERT. OF AUTHORIZATION NO. 27502

TED BERMAN 8 ASSSOCIATES,LLC
(305)868-4707

FLPRODUCTAeWIS VA tiapy,

NO. 09814 _

REF DET 12/09 FOR WELDMENT DETAIL

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 23-1116.14
Expiration Date 06/14/2028
By

Miami-Dade Product Control

REV. | REVISION DESCRIPTION %‘f}’?‘-%‘;‘f’“ A';':,Y'D- ECN| DATE
) AP :
DERCES B, B B Y e [LOT SA
i ATE: ATE: ATE: ATE: NONE |ECN:
%F'-%E '.)gxcxf.o%a yl:i'r’ll? P Eﬂzm ;IE)!I:UZ)I? AUTHORITY IN AIR CONTROL —
AROLL SMENSIONG o 118 T REV. - | SHEETS OF 13
UsEwatoran L ASSEMBLY "C" SHAPED LOUVER EMES625MD STANDARD D
& SECTION VIEWS INSTALLATION
60-022462-00D




D

MIN. EDGE MIN. EDGE
a— DIST. DIST.
REF. TABLE 3/13 __ REF. TABLE 3/13
//, \\\ RYTT WATERSTOPTOFRTJI_E,___.___\
// AN e TYP @ EACH
BACKER ROD & y, // BLADE TO H.H.B.S.
SEALANT (BY OTHERS) N
X 7 \ REF TABLE 3/13 FOR / TYP H.H.B.S. TO FRAMES
/ AXIMUM SPACING !/ .
@\/\ \ OF CLIPS [
| \ I
: } i\ TYP HH.B.S. TO FRAMES Do
\ ] \
OR
\ 7 (24) REF TABLE 3/13 \ ® @
\
\ ), N
\ 12)2 PER CLIP ANGLE N
N\ ~
N o d 14 = -
TYP @ EACH BLADE < \&
(3 PLACES) — / 12\ H.H.B.S. WELDMENT DETAIL /128 MULLION FRAME WELDMENT DETAIL
\ 08 /NTs. 08 /N.T.S.
/ 11"\ HEAD CONNECTION & WELDMENT DETAIL
W N.T.S. MA)(IMUP\[: Esilgartg :gFl 3&51?;
11}
REF TABLE 3/13 (24 SUBSTRATE REF 8 \\“‘“‘(‘)'Flg ""l:,,
2.000" REF TABLE 3/13 (24) e 98 ‘\s‘toQ_.é e _{3@,9 %,
- - B S g SN Suadre
4 V A T Bz _FAS A
2 PER CLIP ANGLE Y / AN MIN. EDGE g g Fas NooOssis F2
2pER AP ANGLE(12) ) DIST. ok : % in =
\ REF. TABLE 3/13 2 5 i o H -
f (L \ S0, ED: State of SES
i@ .l"" \ SB%-; . oQ/q':'
B ____E'EJV \ 225 HEag: m@@@—w O
x w *na . -
N\ . | b (BSE3 ‘%! ON ACES G S
e~ ok ig|  THEGbORaBERMAN, PE.
‘N D) | MIN. EDGE Foag NO. 09814
g} /  DIST.
\ / REF, TABLE 3/13
. /
N\ E /
/
rd
e
1.200" ® -7
BACKER ROD &
SEALANT (BY OTHERS) BACKER ROD & SEALANT
5.5.D. S.S.D. (BYOTHERRS) | 375
125" o MAX.
BXPANSION —-i~— PRODUCT REVISED 14\ LOUVER ATTACHMENT DETAIL
d - . 08 / N.T.S.
Building Lo, ith the Florida (./_ | REV..|  REVISION DESCRIPTION %ﬁ”-%‘;’f’”“‘;@"ﬁ ECN|DATE
NOA-No. 23-1116.14 TOLERANCES DN, K P R BEEVD- wovon cowems |PLOT SCALE|
Exbi B D DECIMAL DIMENSIONS: + CID : NLT BY: BY: ? GRANDVIEW, MO 64030
xpiration Date 06/14/2028 § PLACE J0X £.010 . AMZM’ ATl for17 ATE: AR NONE |ECN:
By e T NP MER SO 116 T REV. - | SHEETS OF 13
Miami-Dade Product Control RN 00T & 00 OTHERWISE SHAPED LOUVER DETIALS EME?S?’:&%_’%‘EARD DWG. NO.
60-022462-00D




-

/// V , ﬂ\\ I 5.000"
\

2 PER CLIP ANGLE @ // \ MIN. EDGE
\ ol
DIST- T =S — l 8" 4-905 5 000“
/ \ REF. TABLE 3/13 1938 '

SUBSTRATE REF
REF TABLE 3/13 FOR : ]
MAXIMUM SPACING OF CLIPS o / ) 2.188
— - —~{ 0.095

\ 1843 I 3.905° - -
|
l[ D . o L
| I 0.095" —j}— 0.095"
/ 1.000"
/' MIN. EDGE
/ DIST, -~ 5.000" —
/  REF.TABLE 3/13
/
~
s
(53) REF TABLE 3/13 ITEM 1 LOUVER HEAD FRAME ITEM 2 LOUVER SILL FRAME ITEM 3 LOUVER JAMB FRAME
BACKER ROD & SEALANT RUSKIN PART# : 70-023119-008 RUSKIN PART# : 70-023120-008 RUSKIN PART# : 70-023118-00B
(BY OTHERS)
/14 ALTERNATE HEAD CONNECTION
N.T.S.
N/ LOUVER SILL ATTACHMENT SIMILAR _’ | 0.580"

1.809"
" = . -3.125"
0.080 ' . 4.000" LD
3.160" : y 0.250"

MAX, 8" MAX I TYP

- -—I- 2.000" I 0500 T — : . + 5
0.080" 500" !
i 1.000"
4.700"

ITEM 4 LOUVER BLADE ITEM 6 LOUVER H.H.B.S. ITEM 7 LOUVER MULLION SPLICE
N.T KSI R'UT ]8 N.T.9.
RUSKIN PART# : 70-023121-00B SKIN PART# : RSM7001 .
‘\‘I‘ 'F”'
% ‘\\\\09 9-60?.. .ﬁs@'g"’
(@] I~ "3 '-.' G -.n. L/
0.080" =] ™ > &', WV S & .._.?1'2
a8  [§77 No 0gsia =7 Z |PRODUCT REVISED
SLEEVE DEPTH EF> == 4~ * . = | as complying with the Florida
S MIN.= 5.250" § & 8 +® Z| Building Code
0.750" ] I 9 g g =2 Expiration Date 06/14/2028
90° & I
— 0.500" 1.375" ﬂ | z58% By
7 235G "iami-Dade Produst Contrel -
! 0.168" & é 83
oking REV. DWN.[CHK'D]APPV'D.
=2 a% Nﬁcogssﬂ N \PPV'D. (TR o P?.\(;:T S%TA:I.E B T
TOLERANCE N QK Ez% BPPVD.
BECIMAL GIMENSIONS: ?ﬁ\l :JD EA. h!LT Y ‘P'IM BY: _ !? GRANDVEEW, M0 €4030 oN _—
5 PLAGE 300s.000. e e A X AUTHORITY N Al2 cowTROL NONE L —
ITEM 5 LOUVER CORE ANGLE ITEM 9 FRONT FLANGE UNIVERSAL SLEEVE FRACTION DIVENSIONS:+1/165 E REV. = | SHEET100F 13
TS, N.T.S. USE WIQ.007 & 008 PARTS EMES625MD STANDARD DWG. NO
RUSRIN PART# : RSM7002 UNLESS SPECIFIED OTHERWISE INSTALLATION o
60-022462-00D




1.500"
—{=— 0.080"

" MAX "
‘— 0.250 5.500 @0.250"

—] 0.125"
~ MAXCC
4 1 ™ j’“ -
1.500" ];__, 0.625" ]_— e ﬁ/ ﬁL J_ L r 0'080“' 2.125"

] VARIES — |[ i 7

«-——l— 1.500" |——— 5.125" ———-—I | B
ITEM 10 CONT. RETAINING ANGLE ITEM 11 FRONT FLANGE COVER (OPTIONAL) ITEM 13 EXTERIOR SHAPE FRAME ITEM 14 SHAPE WATER STOP
N.T.S. N.T.S, N.I.5. N.T.5.
RUSKIN PART # 70-022492-00B
1.500" L.D/S.5.D, ——]
por | - 0.625"
Fﬂ 1 500“ [ [:] o o -] -k a '
' MAX G 20.250" SUBSTRATE DEPTH - 4.750"
-NP : i
I 0.563" MIN AR 3.000" 20.250"
-750'! MAX Ré;zT'I:BALxECI;:ia MAX- [- MAX_ C—C 'I"YP.
—— (N.T.E. 3.000") 4 ﬂ 4 Y F
/ ﬁ 1.500“ f 5250“ 0.525|| | L
FIELD DRILL ' |
FASTENER @ +.063" _L ° *
0.250" —{p=— 0.750" MIN [
VARIES REF 1.000" MAX. FIELD DRILL
TABLE 1/13 FASTENER @ +.063"
/ 1/2 MAX C-C SPACING — VARIES REF TABLE 2/13
REF TABLE 2/13 (N.T.E. 3.000")
ITEM 16 ALTERNATE CONT. ATTACHMENT ZEE
o ITEM 15 LOUVER CONT. ATTACHMENT ANGLE N.T.5.
N.T.S.
3 -_u“l!l!ng‘
o O\ RE L7)
B ST e,
- 5.250" - SUBSTRATE DEPTH 9K STGNOENS 84%;;
N 3.000" " el ~ 2= | PRODUCT REVISED
1.500" __; MAX C-C ﬂ(_:_.\?lfﬂ F@ : = E oy No 09814 . ‘_’-: as complying with the Florida,
1.500" MAX. : o aj=": <% =| Building Code
l 4 ég o * o 5| NoANo._ 23111614
' “ —_ . o . ¥ % g g z % STATE OF £l & |Expiration Date 06/14/2028
! f 0.625 ] L 15> PN s -
5.250" ) SEng “Lom B SS |By
_L E :4:: ':1‘: E ! D e A Miami-Dade Product Control ~
AI— —° & 583 ’h’”eﬂjﬁw\ '
orse . | FIELD DRILL as o8 THEODORE BERMAN, P.E DWN.JCHK'DJAPPV'
" 1.000" MAX. 083" o e , P.E. REV. | APPV'D.
0.250" — ]l FASTENER @ +.063 BEHRS N o614 h i (BEV:ol  REVISION DESCRIFTION ?_Y:-r sBc‘?LE By: | ECN|DATE
TOLERANCES , . ves o |PLO
1/2 MAX C-C SPACING VARIES REF TABLE 2/13 GECIVAL DIMENSIONS: Eﬁv cp Bt py: Mim By 2= RUJSKIN === == con:
REF TABLE 2/13 (N.T.E. 3.000") 3?&3‘5 '?)cc)xo‘:ﬁ%o 7/17 I)%ZII? P 10/U2/17 i AUTHORITY iN AIR CONTROL NONE N
FRACTION DIMENSIONS.:ﬂHB TIME REV. - HEET].IOF 13
O8E W07 £008 PARTS EMES625MD STANDARD >
ITEM 17 ALTERNATE CONT. ATTACHMENT ZEE UNLESS SPECIFIED OTHERWISE INSTALLATION DWG. NO.
NT3. 60-022462-00D




3.000"
MAXC-C  gp250

TYP.

0.250" —”- 1 500" .

-

=T

FIELD DRILL TO MATCH

ITEMS 16,17 OR 18

]—‘ e o e = F FIELD DRILL
0.625" FASTENER @ +.063" i AS APPLICABLE
6.500“ <" 4.875" P
i & 1 0 ¥
0.750" MIN. |
1.000" MAX. VARIES REF TABLE 2/13
1/2 MAX C-C SPACING
REF TABLE 2/13 (N.T.E. 3.000")
ITEM 18 ALTERNATE CONT. ATTACHMENT FLAT PLATE ITEM 19 ALTERNATE CONT, ATTACHMENT STIFFNER PLATE
N.T.S. N.1.S.
= 1,500" ‘-1 e 2.000" —|
1 /—~ ©0.313"
1,500" l
I 0.625"
—-I |—— 0.250" -~ 0.500"
1.000"
— 1.000"
8
ON
u | .....LO-
2000 G‘\\ e PRODUCT REVISED
| § E 8 ‘gs _tlzg_mplgindg with the Florida
FIELD DRILL 3 uilding Code
FASTENER & + .063" 2 g g 'NOA-No. 23-1116.14
Le & [Expiration Date 06/14/2028
] il E B % / 7
563" MIN, | 5RE| @W ,Vé_’ cvirsr| By
750" MAX. Lo IMiami-Dade Product Control
ITEM 20 ATTACHMENT CLIP ANGLE FOR SHAPES = 3 29 %f/‘lf
o OFl  THEODOREBERMAN, P.E. REV. DWN.JCHK DAPPV'D.
TS i g 8o o oeate i i - (BB REVISION DEsCRIPTION | TN {HICORERV D N pATE
TOLERANCES N R ‘ PLOT SCALE
DECIMAL DIVENSIONS: E%“ &I Ei. NLT E\ET‘QP{M By, ?mﬂ CRAROVIEW HO 640 " o
3 ELACEJ.% 0 Dl:w/l? @2!17 10%2117 ' munm ONE eee—
T RV | seeror 5
UNCESS SPLCIFIED OTHERWISE PARTS EMES625MD STANDARD DWG. NO.
INSTALLATION

60-022462-00D




TABLE 3

TABLE 1
CONTINUOUS ANGLE CONNECTION (ITEM #22 CONNECTION FOR SHAPED LOUVER (ITEM # 24)
CTION ( ) SUBSTRATE | MIN. SUBSTRATE FASTENER TYPE MAX. ANGLE| " TMIN. EDGE
S pe T | MIN. SUBSTRATE REQUIREMENTS FASTENER TYPE oacing | Min.EmseDMENT (TS FOCE TYPE REQUIREMENTS cospAtE. (bieTatct
. . n " "
. woop | 3" THICK 042 SPECIFC 3/8" DIA. BOLT W/ NUT, MIN. A307 GRADE A 6 oo HREADS | 1172
n L " " n " n
WOooD | 3" THICK, 0.42 SPECIFIC GRaviTy | 3/8" DIA- BOLT W/ NUT, MIN. A307 GRADE A 6 NUT 11/2 sl 3/8" DIA. LAG SCREW, MIN, A307 GRADE A 6 25/8 11/2
3/8" DIA. LAG SCREW, MIN. A307 GRADE A 6" 25/8" 112" STRENGTH, 33 KS| YIELD | 3/8" DIA. BOLT W/ NUT, MIN. A307 GRADE A 6" oo THREADS. 3/4"
16 GA, 45 KSI TENSILE STRENGTH, | /o W |3 THREADS BEYOND ; STRENGTH
oreeL 33 KSI VIELD STRENGTH | /%" DIA- BOLTW/NUT, MIN. A307 GRADEA | 12 NUT 34 ST 0GR, a5 KO TENGIE [ W, MIN, SAE 3 THREADS -
10 GA, 45 K5I TENSILE STRENGTH, | 5/16" DIA. SELF DRILLING SCREW, MIN. SAE . STHREADS BEYOND| ./ STRENGTH, 33 KSI YIELD R ADE ae 6" BEYOND SUB. 5/
33 kS YIELD STRENGTH GRADE 2* 6 SUB. THICKNESS /8 STRENGTH THICKNESS
; . |3 THREADS BEYOND . ~ DIA. BOLT W/ NUT. MIN. A307 GRADE A ) 3 THREADS =
AUmiNuy | 01257 THICK, 20 Ksi Tewsie 3/8” DIA. BOLT W/ NUT, MIN. A307 GRADEA | 12 N 3/ 0.125" THICK, 20 k1 | 3/8" DIA- BOLT W/ NUT, 6 BoYOND NUT /
STRENGTH, 15 KSI YIELD STRENGTH [ 5/16" DIA. SELF DRILLING SCREW, MIN. SAE 3|3 PREADSBEYOND| g/, ALUMINUM | TENSILE STRENGTH, 15 |7 ("0 G SCREw, MIN, SAE . 3 THREADS e
: GRADE 2* '
UNCRACKED, 2220 PSICOMP. | 1 )4 | ELCO AGGRE-GATOR, 300 SERIESSS* | 3" 13/4" 11/2" URCRACKED 330 55 THICKNESS
STRENGTH COMP. STRENGTH 1/4" DIA. ELCO AGGRE-GATOR, 300 SERIES SS* 3" 13/4" 13/2"
1/4" DIA. BUILDEX TAPCON, CARBON STEEL* & 21/8" 21/2" ' -
UNCRACKED. 2500 PSI COMP. / /! / 1/4" DIA. BUILDEX TAPCON, CARBON STEEL* 4 21/8" 21/2"
2 -~ | 378" DIA. BUILDEX TAPCON+, CARBON STEEL 3 21/7" 112" UNCRACKED. 2500 PS| ; _
STRENGTH - , 3/8" DIA, BUILDEX TAPCON+, CARBON STEEL 3 21/ 11/
CONCRETE 3/8" DIA. POWERS POWER-STUD+ SD1, 2 3/4" 2 3/a" 5 1/a° COMP. STRENGTH :
CARBON STEEL / / / CONCRETE 3/8" DIA. POWERS POWER-STUD+ 5D1, 33/4" 23/8" 2 1/a"
CARBON STEEL
3/8" DIA. BUILDEX TAPCON+, CARBON STEEL 3" 21/2" 23/4"
CRACKED, 2500 PS| COMP. ! Y ! 3/8" DIA. BUILDEX TAPCON+, CARBON STEEL 3 21/2" 23/4"
STRENGTH 3/8" DIA. POWERS POWER-STUD+ SD1, 33/4" 23/8" 31/2" CRACKED, 2500 PSI ,
CARBON STEEL COMP. STRENGTH 3/8" DIA. POWERS POWER-STUD+ SD1, " u u
CARBON STEEL 33/4 23/8 8172
GROUT | ASTM C-90 BLOCK, 1500 Psi GRouT | /4" DIA- ELCO AGGRE-GATOR, 300 SERIES S5 | 3" 2" 2 crouT | ASTM C:90 BLOCK, 1500 1/4" DIA. ELCO AGGRE-GATOR, 300 SERIESSS* | 3" 2" 2"
FILLED CMU COMP. STRENGTH e DIA POWERS FOWER STUDT DL - - o | FLEDOMU | P 3/8" DIA. POWERS POWER-STUD# 5D1, » 2 3/8" 13/8"
CARBON STEEL CARBON STEEL
TABLE 2
CONTINUOUS ZEE/FLAT PLATE CONNECTION (ITEM #23) NOTES:
SUBSTRATE | 11, sUBSTRATE REQUIREMENTS i X O -~ MIN. * COUNTER SUNK PHILLIPS FLAT HEAD ANCHORS MAY BE USED.
: ASTENER TYPE SUBSTRATE ** ONLY AS REQ'D FOR ANCHORAGE, DESIGN OF SUBSTRATE IS NOT BY RUSKIN. ACTUAL SUBSTRATE DEPTH
TYPE SPACING | EMBEDMENT | pepru+s SHALL BE PER PROJECT DRAWINGS.
. ; 3 THREADS .
WOOD | 3"THICK, 0.42 SPECIFIC GRAVITY | /8 DIA-BOLTW/INUT, MIN. AS07 GRADEA | 6 BEYOND NUT 3
3/8" DIA. LAG SCREW, MIN, A307 GRADE A 6" 25/8" 3"
16 GA, 45 KSI TENSILE STRENGTH, | 2 /an ; 3 THREADS SUB.  [TED BERMAN & ASSSOCIATES, LLC
33 K51 YIELD STRENGTH 3/8"DIA. BOLT W/NUT, MIN. A307 GRADEA | 12 BEYOND NUT | THICKNESS [CERT. OF AUTHORIZATION NO. 27502
STEEL 3 THREADS (305)866-4707
10 GA, 45 KSI TENSILE STRENGTH, | 5/16" DIA. SELF DRILUNG SCREW, MIN. SAE ; SUB.
33 KS! YIELD STRENGTH GRADE 2* 6 BEVYOND SUB- | THICKNEsS [FLPRODUCTAPPROVAL COM
3/8" DIA. BOLT W/ NUT, MIN. A307 GRADEA | 12" 3 THREADS SUB.
ALUMINUM | 0:125" THICK, 20 KSI TENSILE BEYRDULT | THICKRES
STRENGTH, 15 KSI YIELD STRENGTH | 5/16" DIA. SELF DRILLING SCREW, MIN. SAE " SUB.
/ GRADE 2* ' 3 B%_’!?&%ég: THICKNESS PRODUCT REVISED
as complying with the Florida
UNCRACKED, 2220 PSI COMP. » , , Building Code
o 1/4" DIA. ELCO AGGRE-GATOR, 300 SERIES SS* | 3" 13/2° 2" NoANg %% 23.1116.14
UNCRACKED, 2500 PSI COMP- | 1/4" DIA. BUILDEX TAPCON, CARBON STEEL* | 4" 21/8" a" i Expiration Date 06/14/2028
CONCRETE _ ,
3/8" DIA. BUILDEX TAPCON+, CARBON STEEL " 21/2" " - By
CRACKED, 2500 PSI COMP. / ON'S 6 / 4 Z/Z’J’//f Miami-Dade Product Control
STRENGTH 3/8" DIA, POWERS POWER-STUDY SD1, . 23/8" a THEODORE MERMAN. P E
R 5" NOM NO. 09814 85| REVIsiON DEscRIpTION | DWNCHKDRPRVID. o paTe
1/4" DIA. ELCO AGGRE-GATOR, 300 SERIES S5* | 3" 2" (55/8" JOLERANGES R Bt BV YR BT & RUSKIN === PLOT SCALE
GROUT | ASTM C-90 BLOCK, 1500 PS! GROUT ACT) § BLACE XXX 2010 Aoy PPy PPy PATE: frivtbypmdieded NONE |ECN:________|
FILLED CMU COMP. STRENGTH 3/8" DIA. POWERS POWER-STUD+ SD1 6" NOM. FRACTION DMENSIONS #1116 weE REV. = | SHEET130F 13
. . ’ 4 " "
CARBON STEEL & 23/8 G ] URECHT SIS, orverwise FASTENER CHARTS EVESG25MD STANDARD DWG. 0.
: 60-022462-00D




